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10:35 60 110.0 = B1%@10:35 (KREERSE)
11:15 60 110.0 = Bige11:15 (KRBERESE)
11:55 60 110.0 5 Bi&011:55 CGREERSE)
12:35 60 110.0 5 Brig@12:35 (RFERSE)
13:10 60 110.0 | = B1&@13:10 (KRBEREE)
13:50 60 110.0 | = B1&£@13:50 (RFERE)
14:30 60 110.0 | = Bi%014:30 (REERSE)
15:15 60 110.0 ] BRi&e15:15 (KRBEREE)
16:05 60 110.0 ] Ri1%@16:05 (KR FfERLES)
23t|780.0 (13%) 1430.0 3FHKEC: 1300.0, PH: 6.1

ERERELL TR A (0.65 vs 0.55)), AIREA % MBEESEEIRK
EREBRETK (60. 0) 5THA (200. 0) R FF, FIHEH T % AEER S E XER
BRIASERRIERE33. 0 ml.

E%PH (7.0) w5

REX it B RECEUR ER L.

REREBEC (770.0) 5i&TEEC (2000.0) REHRK, FRE

#EEIRECE (770.0 vs 1560.0) i35

REXR L HEREC/PHIESR K, AT RERIMIRELR R



P3-2_0, Day=1 (2025-03-30)

ET (ml/hr/plant)

1004 VI, V¥RV, ET - VI, VO, FVI, FVO, FRY, ad jFRV, ET - 2000
75 L 1500 T
50 - 9531 1000
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Warning: lcol [FVI',| "FVO'] missing 22910 26
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(_:. B 25 =
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2208 3 vl
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2000 K ——>—>¢—X
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1400 Warning: lcol ["ECC' 1 is missing

6.5 4 TargetPH=6.5, TargetSetPH=6. 1 —>—  PHBx10% [

____________________________ VA S S S S VR VRN S S S C——— ——
6.0
Warning: lcol ['PHC'] is missing
5.5 1
400 4 : 2000
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21.

20.

20.

19.

m=480, FV0=0

0 1.0
8 0.8+
6 0.6 1
4- 0.4 1
2 0.2 A
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 0.0 0.2 0.4 0.6 0.8
m=660, FVO0=0 m=720, FVO0=0
0 1.0
8 0.8 1
6 0.6 -
4 0.4 -
2 0.2+
Warning: col ["M_E’] missing Warning: col ["M_E’] missing
0 T T T T 00 T T T T
0.0 0.2 0.4 0.6 0.8 0.0 0.2 0.4 0.6 0.8
m=900, FVO0=0
0
21.0 - & MW
8_
20. 5 A
61 20.0 1
4 19.5 +
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W ing: I ['M_F issi
arning: col ['M_E'] missing 18.5 4
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0.0 0.2 0.4 0.6 0.8 500 600 700 800 900
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- MW 21.0 4 - MW
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m=540, FV0=0

Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
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m=840, FV0=0
0
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Warning: col ['M_E’] missing
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m=840, FV0=0 m=900, FV0=0
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